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1. Why does Sinclair call Judith?

A. Because he would say sorry to her.
B. Because he would invite her to a party.
C. Because some accidents happened to him.

2. How did the man go home?

A. By bus. B. On foot. C. By taxi.

R BRxiE, BESE3—S &,

3. Why was the woman surprised to see the man?

A. Because she had expected his father instead of him.
B. Because he had changed a lot.
C. Because she had thought that he would still be at university.

4. What did the woman think of the man?

A. He looked fine.
B. He was a good student.
C. He didn’ t like his father.
5. What was the school year thought to be?
A. It was not long enough.
B. It should be longer.
C. It was interesting.

WEZBME, EEE6—8 &,

6. Who is the man?

A. An actor. B. A reporter. C. A writer.

7. What does the woman do in the play?

A. She directs the play.
B. She writes the play.
C. Shke acts a young lady. ,

8. What does the woman want to be after this play?

A. A singer. B. A director. C. A film star.

W76 mErxtiE, E&ESE 9—11 &,

9. Where does the conversation take place?

A. At a seafood shop.



B. In a dining hall.
C. On the phone.
10. What do we know about the restaurant?
A. It’ s famous for seafood.
B. It seldom accepts large parties.
C. Famous people often come to dine.
11. What can we learn from the conversation?
A. The restaurant is by the sea.
B. Seafood is very popular nowadays.
C. Regular customers have advantages there. -
WEELRMA, EESE 12—I15 &o
12. What was the speaker’ s job before he was 10 years old?
A. Washing plates. B. Shining shoes. C. Clearing tables.
13. Which of the following requirements is laid down by the boy’s father?
A. He must work six days a week.
B. He must study hard in his spare time.
C. He should never be late for work.
14. What did the boy ask his father to do one day?
A. To pay him for his work.
B. To give his friends free drinks.
C. To allow him to have more free time.
15. Why did the boy’ s father refuse to pay him?
A. Because the boy had made some mistakes.
B. Because he thought it was his son who should pay him.
C. Because he thought the boy had failed to meet his requirements.
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Travel Plans

The Man’s Plan The Woman’ s Plan

Destination ( where to go) : (17)

Destination ( where to go) : | Budget (how much to spend) : $ (18)

(16) Duration (how many days) : No more than (19)
How many people to go: The couple and (20)
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1. When is Judy’ s birthday?

A. The next day.
B. The day after the next day.
C. The day they had the talk.
2. What will the two speakers buy for Judy?
A. A record.
B. Some flowers.
C. A box of chocolate.
s —BE, BEE 35 &,
3. What’ s the woman?
A. She is a writer.
B. She is a manager.
C. She is a receptionist.
4. What kind of room did the man book?
A. A room with a bathroom.
B. A room with two beds.
C. A room with one bed.

5. On what day will the man leave the hotel?

A. On Tuesday. B. On Saturday. C. On 21st.

s = BxHE, BI&EE 6—9 &,

6. Where does the conversation take place?

A. In the bookshop. B. In the library. C. Over the phone,.
7. What does the man want to do?
A. Read the book. B. Call someone. C. Read the book again.

8. What has the man done to the telephone number?
A. He has lost it.
B. He has left it home.
C. He has written it in the book.
9. Which of the following can we infer from the conversation?
A. The woman with long hair had a book about Walt Disney.

B. The girl the man met on the bus may gave him a good impression.



C. The book about Walt Disney had been sold out.

WrsE mEE g, EES 10 212 &,

10. How much of all the world’ s medicines are based on plants?

A. Over 15%. B. Over 25%. C. Over 50%.

11. Why do millions of people take aspirin?

A. To fill their stomach.
B. To stop a kind of disease.

C. To make an experiment.

12. What is the problem according to the conversation?

A. People will suffer from SARS.

B. Some plants will disappear forever.

C. People may plant too many trees.
W AR HE, EES 13—15 &,

13. Whom does the woman speak to?

A. A tour guide. B. A taxi driver. C. A shop assistant.

14. Which season is it now?

A. Spring. _B.. Summer. C. Winter.

15. How is the weather like in summer in San Francisco?

A. Hot. B. Warm.

BT WEER
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The only dormitory open

Butler Hall

The reopen time of the other dormitories

(16) on Feb. 16

When to move

By the 7th

The time the dining halls closed

During (17)

The facilities open on a reduced schedule

The library and (18) _ °~

The facilities keeping regular hours

The post office and (19)

The purpose of the students’ remaining on the

campus

To finish up their (20)
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1. What did the woman tell the man?

A. She had rent a new house.
B. She had sold a new house.
C. She had bought a new house.

2. What does the woman’ s husband do?

A. He is an inventor. B. He is a shoemaker. C. He sells shoes.

Wr 8 B xtiE, EEE 35 &s

3. Who is the woman most probably speaking to?

A. A taxi driver. B. A railway-man. C. A conductor.

4. What do we know about the train?

A. Tt takes half an hour to Allegheny College.
B. It is for long journey travelers.
C. It is a slow train.
5. What is the woman going to do then?
A. To change to another train.
B. To give up the journey.
C. To buy a ticket for this train.
WE=gmAa, BESL 6—9 &,
6. What about the temperatures on the moon?
A. They are always very low.
B. They can be very different.
C. They are usually very high.
7. Why is the moon a silent world?
A. Because there are only animals there.
B. Because there is no air there.
C. Because there are no green trees there.
8. How does the earth look like seen from the moon?
A. Tt looks brighter than other stars.
B. It looks like a ball, colored red and blue.
" C. It looks unfriendly.
9. Which of the following is true about the moon?



A. 1t is a friendly place.

B. There are only a few of plants on the moon.

C. Sound waves can only travel through air on the moon.

WRmERXE, BEE 10—12 &,
10. Where does the man want to go?
A. To a concert. B. To a movie.

11. What is the problem with taking the shuttle bus?

A. The bus doesn’t go directly to the Music Building.

B. The bus will not come for a while.
C. The bus goes slowly to the Music Building.
12. What does the man finally decide to do?

C. To a lecture.

A. Walk.
WERLRME, OESE 13—15 &,
13. What is today’ s Spotlight about?

A. An old song.

B. A special English method.

C. An important message.

B. Wait for the bus.

C. Think of another plan.

14. How many copies of the song were sold in three days?

A. 1985.

B. 8000.

C. 800000.

15. Which of the following statements is true?

A. Thousands of radio stations around the world played the same song.

B. It was strange that the British people didn’t like the song.

C. Mike Procter knows nothing about this old song.
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Penny Conway

Michael Anderson

(D Mrs. Morrison is her (16) ,
and Kate is her cousin.

@ Her mother lives near Plymouth, and her
father works for (17)

® She works in (18) .

(D He was working and studying in Canada
for (19)

(@ He was living near the Morrisons, who

years.

were very kind to him.
@ Everybody calls him Mike, for
(20)

surmames.

are more friendly than
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1. What are the two speakers doing now?

A. Going to a party.
B. Going home.
C. Waiting for friends.

2. What time must it be?

A. Late at night.
B. Early evening.
C. Late afternoon.

3. How will the woman leave?

A. Take the tube. B. Take a bus. C. By taxi.

W —BxiE, EES 4—6 &o

4. What was the man going to do?

A. He was going to the store.
B. He was going to borrow a recorder.
~ C. He was going to the repair shop.
5. Why didn’ t the man use Linda’ s recorder?
A. Because Linda didn’t have one.
B. Because Linda would use it herself.
C. Because Linda didn’t have one at hand.
6. What will the man probably do?
A. He would go to get back his own recorder.
B. He would buy a new recorder.
C. He would borrow a recorder from the woman.
RE=@3E, BESE 79 &o
7. What do the two speakers eat for lunch and supper?
A. A green salad for lunch and some beefsteak for supper.
B. Some bread and potatoes for lunch, and some meat for supper.
C. Some meat for lunch and a green salad for supper.
8. How much meat do they want to buy?
A. About twenty pounds.
B. About two pounds.



C. About three pounds.
9. What will they buy?
A. A green salad and some potatoes.
B. Potatoes and beefsteak.
C. A green salad, some beefsteak and potatoes.
W oE B RiE, EES 10—12 &,
10. Why does the woman hate the bus system in Londen?
A. Because the buses are always late.
B. Because the buses are always crowded.
C. Because the bus drivers are unskilled.
11. What does the woman say about the subway?
A.” She hates the subway system in London.
B. She thinks train fares are much more expensive than bus fares.
C. Taking the subway is the best way to go anywhere.
12. How will the two speakers go to the theatre in the end?
A. By taxi. B. By bus. C. By subway.
FEIRME, BESE 13—15 &8,
13. What does the United Nations want everyone to know?
A. The earth is perfect.
B. The earth is in danger.
C. The sun is in danger.
14. What are happening to many animals?
A. The number of them is increasing.
B. The number of them is smaller.
C. The kinds of animals are growing.
15. What are many young people doing now?
A. They are helping to save our earth.
B. They are cutting down trees.

C. They pay no attention to the problem of the earth.
ST WEUR R
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Hotel (16) Hotel
Name Bob (17)
From (18) (city)
To Shanghai
Stay From Aug. (19) to 14th
Room A (20) room with a good view
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1. What message does the woman write down?

A. There is a party tonight.
B. The party will be put off.
C. Soda is needed for the party.
2. Which of the following statements can we learn from the conversation?
A. Larry knows when to have the party.
B. The woman will go to the party.
C. The man will call again.

W% ZBxdiE, EE % 3—S &,

3. What did the man do yesterday?

A. He played basketball. B. He played soccer. C. He climbed a tree.

4. What happened to the man yesterday?

A. He twisted his ankle. B. He broke his arm. C. He fell off a tree.

5. What happened to the man ten years ago?

A. He fell off a iree and broke his ribs.
B. He had an accident and twisted his ankle.
C. He had an accident and injured his left leg.
W = BxtiE, EE% 6—8 &M,
6. What is Rebecca going to do next week?
A. Some shopping as usual.
B. Some school work.
C. Some farm work.
7. Why can Rebecca go to work on the farm next week?
A. Because she has a relative on the farm.
B. Because she has some friends on the farm.
C. Because she belongs to Class Two.

8. How will Rebecca go to the farm?

A. By bus. B. By train. C. By taxi.

W3 MERstiE, @& 9—12 &,

9. How many subjects does the woman take this semester?

A. Three. B. Four. C. Five.
— 10 —



10. Where is the man going to work this term?

A. At the library. B. In a factory. C. In his department.
11. What’ s the students’ attitude towards Professor Stillwell’ s class?

A. Positive. B. Negative. C. Indifferent.
12. Why did the woman’s friend like Professor Atkins’ class?

A. Parily because she was generous.

B. Partly because she was nice.

C. Partly because she was humorous.
WERILRME, EESF 13—15 &,
13. Who is the speaker most probably talking to?

A. News reporters. B. Foreign students. C. Language learners.
14. What would the speaker use his notebook to write?

A. News and radio reports.

B. Useful words and expressions.

C. Language learning experience.
15. Which of the following does the speaker suggest doing?

A. Making good goals.

B. Trusting in one’ s ability.

C. Learning in a real situation.
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The young man’s worries The (16) > s ideas

After I enter my youth, my voice be- | You just need to get used to it. This is a natural part

comes (17) to the ear. of (18) and becoming a man.

After a while, your voice will (19) and

I feel very uneasy when talking with . ) ) ]
then you will start to sing well again, with the strong

classmates. .

and powerful voice of a man.

I suggest you talk to your dad or a male teacher
Now I feel depressed. about it and they can (20) their experi-

ences with you.
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1. What does the man invite the woman to do?

A. To have a dinner tonight.
B. To go to the cinema tonight.
C. To his home and chat together with his friend.
2. What does the woman want to know from the man’s friend?
A. The experiences living in Japan.
B. Japanese food and life.
C. How to lead a life in Japan alone.
Wr 5 B 3tiE, mESE 3—S5 M,
3. What was the boy doing before he went swimming?
A. He played basketball with John and Tony.
B. He played football with John.
C. He played football with John and Tony.
4. Why didn’t Tony go swimming with the boy?
A. Because he had to finish his homework.
B. Because he couldn’t swim.
C. Because his mother wanted him to go back earlier.
5. What is the boy going to do this afternoon?
A. He is going to play football.
B. He is going to help Mr. Smith to plant flowers and get paid.
C. He is going to help Mr. Smith to plant flowers for free.

WE=RME, EEE 69 &,

6. Where does the speaker most probably come from?

A. America. B. France. C. China.

7. What party is referred to in this passage?

A. A birthday party of an American woman.
B. A special celebration held for an honored and senior teacher.
C. A birthday party of a 39-year-old lady.
8. If an American woman is celebrating her 29th birthday, how old may she really be?
A. Over 50. A B. Over 40. C. Over 30.
9. Why do American women hide their real age at their birthdays?
— 12 —



